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First 15 minutcs are allotted for the

Note : .
candidates to read the question
paper- .
frdwr: i) T UTAUS A B A A
i) w we HEEd E
) v e & Ao e fod fea
iv) Wﬁ_mmﬂﬂi@aﬁ?ﬁ%|
v) TME U¥H ¥ IR @ifag AR T
% GIE
vi) S W T 1 8, 39 W ¥HG T T
Ty |
Instructions :
i) There are in all nine questions in
this question paper.
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1) All guestens are compulsory,
bEBnning  of each
quesuon. 1€ number of parts
to be aufMpted are clearly
menuonce. ’
iv) Marks allotted to questions are
indicated against them.
v) Start solving from the first

question and proceed to solve till
the last one.

vi} Do not waste your time over a
__Question you cannot solve.
1. Fefefea aft wvel # g $im -
F) OH wieg & flx)=x* g0 qfomfsg
BT f: R— R F@ 3T & 999

i) Inome

i) - f U HORE §
i) f 9 e &
i) f R € ey e W &
iv) é“ﬁ?@aﬁ%ﬁﬁ#a@rﬁ
: 1
@) HﬁwﬁﬁAﬁRB%mm;pxq
AR gxr EF ABFI w7 &

1) pxr

1) rxp

i) gxp

iv)  H 9 SR T |
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sin” X€OS o

]} lanx+cgt_1'+€

i) tapx-cotX*¢

iii)  sec x +cosecX +C {
iv) stcx-CGSC‘:x'!'C'

ST YHIHTT
2 2 dy
xy-d—‘g-+x(iy—'] - a}=2 =
dax dx
Hife &
iji 3 i) 2
i) 1 iv) O. 1
afk ofew A1+ 4+ 3k 3R

4Tk vEm e E A W

iy
N4 i) 3
iii) 2 iv) 1. 1

1. Attempt all the parts :

a)

B31350

Suppose that the function
f: R— Ris defined by f(x)=x9.
Then choose the correct answer :

i)  fis one-one onto

i)  fis many-one onto

i)  fis one-one but not onto

iv)  fis neither one-one nor onto.

1
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i)

d)
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q
Hoare

- matries andl
If orders of matries A hen

pxq and g x T rcsp:‘:('iiw:ly,
order of AB1s

1) pxr

ii) rxp

iii} gxp

iv) none of these.

The valuc of integral
1

sin” x cos? x

i) tanx +cotx +c¢

i1) tanx —-cotx +c

iii) secx+cosecx+c

iv] secx-cosecx+c. 1

The ordersmof . the
equation

d’y  (dy)® dy

—_ —_ —pyed _ .
xydxz X[dx] ydxﬁg is
jp 3 i) 2
i) 1 iv) 0. 1

dx is

differcntial

NN A
If vector Ai+4 j+ 3k ang

A A A
41+2j-4k are perpendicular to
each other, then the valye of 3 is
i) 2 iv) 1, 1
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2 ST e AT TN
. . 1 - 1
=) tan ll+cos_'{"'j)+sm [ 2) o
o T e 1
Z) AR f: R, R FE f{x]=§in.‘x3m

)
)

)
2. Atte
a)

b)
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g:R— R# glx)=x" &

[{fg]x 3R (go f)x & HI AT

HISY 3R femgt [F fog=gof. 1

ﬂﬁ?ﬂm=pij%ﬁﬁ

P(A/B)=Z @ P(AuU B) %1 O 7d
S

a’ﬁﬁﬂ | http://www.upboardonline.com 1

T H ¥4 y=asin(x+b), rEd

a, bW R ¥, F el w0 Ot

STIHCT [HIOT <l T ity | 1
X

T f(xl=[|x|’“°%%q,r=o
-1, x20

mpt all the parts -
Find the value of

tan™'1 4 cog-1 (— -i—)) +sin™! (— -lj 1
* 2 .
ff:R- Rwhere f(x)=sinx and

?5 R > R where g(x)= x?, then
lll;ld (fog)x and (go f)x and
Show that fog=go f. 1
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c) it opia) =PI~ 13 and
2
P(AvB). 1

d) Find the differential equation of
the family of CUTVes y=gsin(x+b),
where a and D are constants. 1

e) Check the continuity for the
function

_‘Ed’x.{_(}
fix)=4|x| atx=0, 1
-1,x20

3. ﬁmraﬁaﬁmﬁavawm#ﬁ-q

E} Eﬂ% y —_ 13_]]"1 X 1 .a'}T

T
@ W i-2743k o 3700, 0 &
9 1 1 7 Fif )
M) frfefad syt
X+3y<5
x+y<3

x20, y20 ¥F 3=mis
Z=5x+3y W Awaw o wm

iU | 5
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Attempt all the parts

X
a) If Yy =tan~! ____J_’,__—-—__z— , then
1441+ X

find %’J{. 2.
b) Find the angles between the

7

A A A
vectors i-2j+3k and
A A A

3i-2j+k. 2
¢}  Under the following restrictions

x+3y<S

xX+Yy=<3

xz0,yz0

find the maximum " value of

Z=5x+3y. 2
d) Show that the line passing

through the points (4, 7, 8 ) and

(2, 3, 4) is parallel to the line

passing through the points

(-1,-2,1)and (1,2, 5). 2
frfefaa avft @vel e S

F P LR T T YD
AR 3 S € | A Fw a
T\aﬁq%| - 2
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SIn2x
_ :‘:.:_r_r_; I__..-—-" - n Z—.\. - (1‘{* '_.;f
) T T qeest x+hsin? v
?j_‘?-::'ﬁ r.ﬂlaj};.&:?{_ﬁ'i 2

. AR A
) afr @ =31-J* Ok HR
A AP - E
h=i+2j-k T IW B % dawa
. ~ L s -+ -
1w Fiea, MO T e B q 3R
b @ wef T T i 2
) WM flx)=x-1 % U 0w
[3, 5] % RS & Tqume vy 77
T FHIAT| 2
Attempt all the parts :

a) Ff‘om integers 1 to 11 two integers
TTTTare selected gt random. [{ their
Sum is even, then find the
p;czlbabiliqf that both Integers are
O .
b} Find the value of the intcgrj
J' sin2x d
5 X  where ¢

acos® x + bsin? x
and b are constants.
-3 A A o
CJ Ifa:Si—j‘i'Sk Eu'ld
- A AA
b =1i+2j-k, then find the area of

that triangle whose two sjdes are
- -
represented by a and p 5

2
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Mean Value
the function

G
Lagranglf 5

fI:X:I = x2 -1in the inlﬂf‘-"ﬁl [ 3, 0|

2
bt ¥ fpe g 908
I ;
%) fog =it
X+a b c
a x+b ¢ |=x’(x+a+b+c).
a b x+c
5
@) ﬁﬁcos"%+cos“%=9ﬁm
HivT feh
9x? —12xycos B+ 4y? = 36sin26.
5]
) maﬁwmj xsin x x:f.,
o 1+cos? x 4
. . )
) ﬁﬁaﬁmfﬁaﬁx2+yqlﬁﬁ
y? =4(x-1) T W F: wd
T € 5
¥) Wﬁ ?"'{1+_;]+?(21—J+k]3=ﬂ{
r—[2!+_jr k}+u(3!-5_p+2k]$
mmmﬁqgﬁﬁmmu 5
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(x = 2)dY =[x+ y)dx = 0 i &

5
3 mu.mpr; any fivé parts of the following .

aj Prove that

S

x+a b C
a x+b ¢ |=x*x+a+bh
a b x+c¢ ol -
b) If cos'1§+cos‘l% =0, then
prove that
9Ix? - 12xycos@ + 4y2 = 36sin29
©)  Prove that | _Xsinx dx=22
d o 1+cos? y x=-4- >
) Prove that the curve ;‘:2+y"E 1
and 2. )
o Y =4(x-1) touch e
. ach
e
) Find the shortest distance betwee X
n
the lines r =(i+
and [ ;)+?.{21-J+k]
-3
: Sr;[21+j k]+u(3:-5;+2k}
olve the dlfferennal equ
(X=Yldy-(x+y)qx =g O amg
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AT F fees ofg B0 W OE

S foy gy e i S
ng'ﬂ'iﬁﬁq;
ﬁt‘%ﬁ?ﬁaﬁﬁm"?ﬁmﬂﬁ

X-y20

*x+2y22

“3:954,1;20

Z=2x+3y~1 TAdd HHE T
' 5

-1{ _2x - 1-x2
tan (l—xi) %l cos [1+x2] *
T ST P A w5
I k% =ayT WK el Y
x=4y-2 ¥ R 9 = S5wat 379
HifeTa | 5
TF Ah A, 70% T3 § T seray
1 0 =k B, 60% TeTal § wey
ST ¥ 1 T w2 % wha @
Terd B Hi g i w5

- =

a, b, ¢ ﬁ?ﬂﬁﬂﬁf\?ﬁwm
t® 3+3+?=0,ﬁfﬂaﬂfrﬁq%

- ~» -+ - - =
axb=bxec=c¢cxa. 5
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6. Attempt any five parts o

a)

B31350

fggaﬂfﬁﬁﬁ:ﬁ
tn-l[@‘m
a

--‘--_"""-—-.

- = _1
o 1
el "'J——Eﬂxgl_

3
fthe fD”UWing.

Solve the followmg linear

Programming proh|e )
method, under the fm by gfaphlc;al

ollowi

constraints : owing
x-y20

-X+2y=2

x23,Yy<49, y=0

Find the minimum value of
Z=2x+ 3y-1. 3
Find the differential coeffi

-1 2x . :
tan (l—x:“) With  respect to

cos™! 1- x?2 5
1+ x2 )

Find the area enclosed between

the parabola x? - 4y and straight
line x =4y -2, 5

One man A SPeaks truth ijn 70%
events. An Oother man B speaks
truth if} 60% tvents. Find the
probability that an event both
agree with one another 0

cient of
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-+ > =
e) I three vecyyy quanutms a, b, ¢

13

-3 -
are such thg g+ b+ ¢ =0, then
- - ¥ - =} —
provcthal_ax?;:bx,r;:cxa. 5

f) Prove that

tan™! (—E‘L:_____ Viox|_®_Leosx,
Vitx+flox) 4 2

where — L <y<l. S
J—z— X%

ﬁqﬁﬁ@ﬁﬁﬁﬁ?ﬁwaﬂgaﬂﬁﬁm
F) e e fEE

x+y+z=6

y+3z=11

x—2y+z:0

w1 3TE i ¥ e Hiv 8
%) i) g st s

a a+b a+b+e |
2a 3a+2b 4q+3b+ 2 | =g
3a 6a+3b 10a+6b+ 3¢ .

i) Rt s 2i-fak,
n 'ﬂ‘ M A A A
1-3j-5k,3i-4j-4k us
FEHIT B Y E | B = %
oY T oy < Fifo 5

B31350

http://www.upboardonline.com

| Turn over

wod auruopteoqdn-mmmyidny

wod auruopteogdn mam,:dny

htip //fwww.upboggdonline.com

http://www.upboardonline.com

324(Y2) _
7. Attempt any oné€partof the following :
a)  Solve the following SysStem of
cquﬂtions :
y+3z2= 11
x-2y+z=0
by matrix method. 8
b) i Prove that
a a+b a+b+c 3
2a 3a+2b 4a+3b+2c|=a-.
3a 6a+3b 10a+6b+3cC
3
AAA
ii) Prove that 2i- j+ Kk,
A e M M A Fat
i1-3j-5k, 3i-4j-4k are
sides of a right angled
triangle. Find rest two angles
of triangle also. 5
8. f=teifEd 9 4 fodi & GUE & 86 ﬁ'lh—ﬂt :
%) F xdx
%) [5——5—— F T W
o @ cos” x+ b sin” x
&?]FIGHJ, | 8
@) i) W f(x)=sinx+cosx
3T " AT whifery | 4
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Py 4 B8 ARG T
3 e § g A B 9 T8
Pt s 41 g @ @ A

8 TSR et 2| 4

:]ttemgt 3nione part of the following :
mda the
N value of
xd
P Py e 8
0@ COs x4 p?in? x

®) i) Find the maximum value

of the function
f{x}=sinx+cosx. 4

1i) There are 4 red and 5 black
balls in a bag A. In another
bag B there are 6 red and
3 black balls. One red bal] is
taken from bag A, and
transferred to bag B. After this
one ball is taken from bag B,

find the probability of that to
be red.

[ L 4

9. ﬁma@ﬁqaﬁn‘mw@vga;‘rgaafm:
V2 s x_3 3

3
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@
dy _ 3ycotx = sin oy M 761 HIWQ,

i
wa® X775 W y=2 § = fafne
gﬁﬁrﬁaﬂ%m

tempt any 7€ Part of the following -
9. Atte FE‘jind the value of owing :

2x+1
J

,.--"'__‘“-dx. 8
T +x-3

b) Solve the  differential equation

q)

a)

d _ :
a% ~-3YCotx =sin2x, when at

—
i

x=3, Yy=2, find the particular

solutior:. 8
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